TV RU=UZRE

22 | No K% F fim Sl
50cc 2 HREY VAR b PW50
50cc 14 IRAY b¥ PW50
50cc 20 BREF A b = PW50
50cc 86 BIRT7 A b I3 CRF50
50cc 103 Bkl A bt PW50
50cc 227 [ESL # 9F CRF50
50cc 365 S LA 75 QR50
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1 86 BIR7 A b I3 CRF50
2 365 S LA 73 QR50
3 14 IRAY b¥ PW50
4 2 EEY TR 5% PW50
5 103 EREILA 5% PW50
6 20 BRExA b 6% PW50
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[=Liva No K% TF S
1 86 BIR 7 A b = CRF50
2 365 S LA 75 QR50
3 2 TEY TR 5% PW50
4 103 Bkl A b PW50
5 20 BRExA b 6F PW50
6 14 RAY F 5% PW50
E—Hh1 E—F2 BF
[5iva No K% [=Civa [=Civa H1+H2
1 86 BIR7 A b 1 1 2
2 365 Sk LA 2 2 4
3 2 SREY 7R 4 3 7
4 103 EEEILA 5 4 9
5 14 A 7F 3 6 9
6 20 BRExA b 6 5 11




